N A =~

A0 Srreyrwners

NNNNNNNNNNNNNNNNN

All Sports Manufacturing Inc.
RXV 4” Drop Carrier Lift Kit

Visit AliSportsLiftKits.com for more
All Sports products!



2. Attach carrier to frame using four 3/8” x 1” bolts and four 3/8” nylocs. Tighten hardware.



3. Unbolt shock from stock location and re-attach with shock extension plates. Attach plate at top with
OEM bolt and nyloc with spacer in-between. Attach mid-section with two 3/8” x 1” bolts and nylocs. Attach
shock to plate with 3/8” x 2 1/2" bolt with nyloc. Tighten hardware. Repeat for opposite side.

R | A
A8 a | /
AR ¥ 4%

4, Bolt control arms to bottom of the carrier using OEM bolts and nylocs. Tighten hardware.




L - ||

e
2
|
[

?

je— l‘! B
;

5. Attach new spindles to control arms using included 1/2” x 6” bolts, nylocs and SAE washers. Then attach tie rods
to steering arms on spindles using OEM hardware. Tighten hardware and repeat for opposite side.
indles.

-

7. Remove shock bottom from axle and install the shock extension rackets. Install bottom of bracket with a
10mm x 40mm bolt and the top of the bracket with a 3/8” x 2” bolt with 3/8” flat washer and 3/8” Nyloc. Tighten

alll hardware and repeat on opposite side.




9. Remove front of leaf springs from spring hangers. Install spring hanger extension plates at the front of the
leaf springs. Use two plates per side and two 5/16” x 1” bolts and two 3/8” x 1” Bolts with nylocs. Re-attach leaf-
spring using OEM bolt and nyloc. Repeat for opposite side and tighten all hardware.

10. Remove stock shackles and replace with new rear shackles using OEM hardware. Tighten all hardware.




	4_RXV_Carrier_Lift-1
	4_RXV_Carrier_Lift-2
	4_RXV_Carrier_Lift-3
	4_RXV_Carrier_Lift-4
	4_RXV_Carrier_Lift-5

